BREOE as: A A
< CIR@ENR & @ ‘
A SEREDBOEHTCRT £3 A
rko [ JichTIEAHEEEILLS. OTVEERZEYEL LS, )
. e .
4]+ e 4 =158)+

o 2
5

[ 1.25 |

_

2

- (=[]

1
2

®
No| 0
|l
() (]
.L
(™)
®
ol

<EHEIAR—2Z2>

@ fIRE % E@“g?ﬂi’%@@ﬁaﬁ



(N [ameds AI : A :
< Emeun s
A DREDBEPERTRT 23

rko [ JichTIEAHEEEILLS. OTVEERZEYEL LS, )

3-0+0 e3-0:E

<EHEIAR—2Z2>

@ HER % “@““5’?“5’03%@?%@



Y, |SReas Alk: A
< Emeun s
A DREDBEPERTRT 23

rko [ JichTIEAHEEEILLS. OTVEERZEYEL LS, )

3 ]
C)'E; ::IEI%-IEII @ jI'::IilfF(:j

<EHEIAR—2Z2>

@ HER % @“@?“5’03%@?%@



Y, |SReas Alk: A
< CR@R 6
Q< DREDBEPERTRT 23

<EHEIAR—2Z2>

@ HER % @“@?“5’03%@?%@



AN [aRedE Al : A g
< menne
A DHEDMEPEHTERT £%2

CRDDEE. MR EHTELIFLLEY), OFTVFELRFTYVIELLI, )

3 |
® = = 3= @ —
5 c 3

<EHEIAR—2Z2>

® & % '@“ﬂé’?ﬂé’%g@kﬁ



Y, |SReas Alk: A
< Emeun s
A DREDBEPERTRT 23

RO E. IO ERTELILL I,

q 5
O — = 2 —
2 8
24 |
® £= ® 4H—
6 47

<EHEIAR—2Z2>

© & % '@““5?“5’@3%@%?&



Y, |SReas Alk: A
< Emeun s
A DREDBEPERTRT 23

RO E PNBEREHRTHRLEIL L,

3 3
O = @ —
4 8

Ol
NI

<EHEIAR—2Z2>

@ EH % '@““5?“5’@3%@%?&



AN [aRedE Aks: A A
<, ERenno ‘
A DHEMEOBRTRT £3%

RO E PNBEREHRTHRLEIL L,

7 7
O — @ —
4 5

N
Q‘\.,

<EHEIAR—2Z2>

® EH % '@““5?“5’@3%@%?&



Y, |SReas Alk: A
< Emeun s
A DREDBEPERTRT 23

RO E PNBEREHRTHRLEIL L,

9 5
O — @ —
5 3
4D 3
® — =
6 @34

<EHEIAR—2Z2>

OF = - % '@““5?“5’@3%@%?&



AN [aRedE Aks: A A
< menne
A DHEMEOBRTRT £3%

RO E PNBEREHRTHRLEIL L,

28 9
© = @ —

7 2

I 3
® — =

3 @24

<EHEIAR—2Z2>

© fkiF % @i g @i 503% @ ﬂv@



Y, |SReas Alk: A
< Emeun s
A DREDBEPERTRT 23

RO E PNBEREHRTHRLEIL L,

7
O — @ —
4 2

W
al&

<EHEIAR—2Z2>

@ ki % @i g @i 503% @ ﬂv@



Y, |SReas Alk: A
< Emeun s
A DREDBEPERTRT 23

RO E PNBEREHRTHRLEIL L,

64 R
O — @ —
3 4
g |
®_ -
5 © 65

<EHEIAR—2Z2>

@ fLif % @i g @i 503% @ ﬂv@



Y, |SReas Alk: A
< Emeun s
A DREDBEPERTRT 23

RO E PNBEREHRTHRLEIL L,

| 4

O — Q@ —
3 5
7 |

®_ -
7 © 3

<EHEIAR—2Z2>

@ ki % @i g @i 503% @ ﬂv@



Y, |SReas Alk: A
< Emeun s
A DREDBEPERTRT 23

RO E PNBEREHRTHRLEIL L,

7 | 9
O — @ —
4 2
25 I
® — ® 22—
5 28

<EHEIAR—2Z2>

@ fLif % @i g @i 503% @ ﬂv@



o AR 2 DT BHXET5E! Q
N L @ 2
A FEEMNECERTERT

23FZ

RO EE. NEREBBETELILLEDY., (B255)

3 9
® = @ —
3 2

<EHEIAR—2Z2>

® HEDHL % @i g ? @'03% @W@:@



yeo B N N o EET5 4! Q
@/ CR@IR O ”
A FEEMNECERTERT

23FZ

RO EE. NEREBBETELILLEDY., (B255)

|5 '/
® — @ —

3 2
5 o 3.

3 5

<EHEIAR—2Z2>

® HEBHL % @i g ? @'03% @W@:@



(N [ameds AI : A :
< ERelns
A PHEMEPEHCET £FZ

rko [ JichTIEAHEEEILLS. OTVEERZEYEL LS, )

4 5
C)'E; ::I!I%-IEII C)'zr :415'%'II'
-(0.8] = (025
3
2

| |
c
|

<EHEIAR—2Z2>

@ PiEE B % @ig?gﬁgg@kz



EREIR acs: A @
< CIR@ENR & @ ‘
A DHEDMEPEHTERT £%2
rko [ JichTIEAHEEEILLS. OTVEERZEYEL LS, )
| :
3+ e 4=+
=(0.125]

3
O —
2

, 15
5

< la
o
N
@ +f=

<EHEIAR—2Z2>

@ HR EX % @“5?%3%@%@



(N [ameds AI : A :
< ERelns
A PHEMEPEHCET £FZ

rko [ JichTIEAHEEEILLS. OTVEERZEYEL LS, )

3 7
0 2-@+BE) eoL-@+@

<EHEIAR—2Z2>

@ R Ex % @“5?%3%@%@



(N [ameds AI : A :
/ L EReR 6
e PHEMEPEHCET £FZ

'/ '/
@7=+ ®§=+
=(3.5] =[0.875 |

<EHEIAR—2Z2>

@ R Ex % @“5?%3%@%@



AN [aRedE Al : A g
/ L CReER o
A HEENEOBHTERT X ¥

CRDDEE. MR EHTELIFLLEY), OFTVFELRFTYVIELLI, )

3 |
= 3+5 3 | +8
= 0.6 = 0.125
6 |9
® — = 6 =+ — = —
> 6+ 2 @24 7
= 3 = g +4
= 2.25

<EHEIAR—2Z2>

GF-F-71 % ”@““5‘@‘“5’@3%@?%@



(N [ameds AI : A :
/ L CReER 6 ,
e PHEMEPEHCET £FZ

RO E PNBEREHRTHRLEIL L,

9 5
© — = 9+ @ — = 5=
> 9-+2 3 5+ 38
= 4.5 = 0.625
24 I 9
® =— = = — = —
b 24+ 6 @42 >
= 4 = 9=+2

= 4.5

<EHEIAR—2Z2>

GOF-F-71 % ”@““5@‘“5@3%@%@



(N [ameds AI : A :
/ L CReER 6
A PHEMEPEHCET £FZ

RO E PNBEREHRTHRLEIL L,

3 3
O = = 3= @ 2 = 3 -
4 3+4 3 3+8
= 0.75 = 0.375
Hé | | 6
® =—/— = + — = —
- 56+ 7 @35 =
= 8 = |6+ 5
= 3.2

<EHEIAR—2Z2>

@ EE &2 % ”@““5@‘“5@3%@%@



AN [aRedE Aks: A A
<, EROEDo ‘
A DEENECERTET £%z

RO E PNBEREHRTHRLEIL L,

7 7
® — = 7= @ — = 7=
7 7T+ 4 5 7+5
= 1.75 = |.4
2°] I 9
® — = = ® | — —
g 21+ 49 I8 3
= 3 = 9=+38
= 1.125

<EHEIAR—2Z2>

OF - §-71 % ”@““5@‘“5@3%@%@



(N [ameds AI : A :
/ L CReER 6 ,
e PHEMEPEHCET £FZ

RO E PNBEREHRTHRLEIL L,

g 5
5 g9-=+5 3 5+8
= 1.8 = 0.625
42 3 | 5
@ — = — —_— = —
3 42 - 6 @ 34 4
= = |5+ 4
= 3.75

<EHEIAR—2Z2>

OF-F-71 % ”@““5@‘“5@3%@%@



(N [ameds AI : A :
/ L CReER 6
e PHEMEPEHCET £FZ

RO E PNBEREHRTHRLEIL L,

28 g9
7 28+ 1] > q+-2
= 4 = 4.5
| 3 | |
R — = - @ — =
g | 7F 4% T,
= 0.125 = || =4
= 2.75

<EHEIAR—2Z2>

® HEif Bz % @i g ? 5@3% @hz



(N [ameds AI : A :
/ L CReER 6 ,
A PHEMEPEHCET £FZ

RO E PNBEREHRTHRLEIL L,

7 |
O — = - @ —|— = -
7 7T+ 4 > 1+ 2
= 1.75 = 5.5
35 3 19
® — = - ® 2= = —
5 35+ 5 28 =
= = 19+ 8
= 2.3775

<EHEIAR—2Z2>

@ HEif Bz % @i g ? 5@3% @hz



(N [ameds AI : A :
/ L CReER 6
A PHEMEPEHCET £FZ

RO E PNBEREHRTHRLEIL L,

64 | |
g 64+ 8 4 | | = 4
g I | 3
® — = g = — = —
. 9-+5 @62 >
= 1.8 = |3+2
= 6.5

<EHEIAR—2Z2>

@ HEif Bz % @i g ? 5@3% @hz



(N [ameds AI : A :
/ L CReER 6
A PHEMEPEHCET £FZ

RO E PNBEREHRTHRLEIL L,

| | 4
O — = — Q@ — = —
== 1+8 =145
— 0.125 —- 2.8
7 K
® — = 7= — ==
7 © 3y
= | = |13+ 4
— 3.25

<EHEIAR—2Z2>

® HEif Bz % @i g ? 5@3% @hz



(N [ameds AI : A :
/ L CReER 6 ,
A PHEMEPEHCET £FZ

RO E PNBEREHRTHRLEIL L,

7 K
O — = - @ — = -
7 7+ 4 > 19+ 2
= 1.75 = 9.5
25 | | 7
®@ — = = ® — = —
S 25+ 5 28 3
= 3 = |7+8
= 2.125

<EHEIAR—2Z2>

@ i Bz % @i g ? 5@3% @hz



A AR 2 ¥ BHEHT5A! Q
N @ =
A PHEDBRCRRCET :

2FA

RO EE. NEREBBETELILLEDY., (B255)

3 q
— = 3+ @ — = 9+
@8 3+38 > 92
= 0.375 = 4.5
| 6 3 | |
® — = — — =
3 16+ 8 @24 7
= 2 = ll+4
= 2.75

<EHEIAR—2Z2>

® NEDL Bz % @i g @i %’03% @ i&iz



o\ AR 2 ¥ HEET5 4! Q
N Z
) PEEMICERTRT >

SANEA 2EA

RO EE. NEREBBETELILLEDY., (B255)

| 5 7
3 |15+ 3 > 7=+ 2
= b5 = 3.5
| I | 6
QD — = — _— = —
g | °° ¢35 5
= 0.125 = 16=5
= 3.2

<HEEIR—Z>

® NEDL Bz % @i g @i %’03% @ i&iz



	スライド 1
	スライド 2
	スライド 3
	スライド 4
	スライド 5
	スライド 6
	スライド 7
	スライド 8
	スライド 9
	スライド 10
	スライド 11
	スライド 12
	スライド 13
	スライド 14
	スライド 15
	スライド 16
	スライド 17
	スライド 18
	スライド 19
	スライド 20
	スライド 21
	スライド 22
	スライド 23
	スライド 24
	スライド 25
	スライド 26
	スライド 27
	スライド 28
	スライド 29
	スライド 30
	スライド 31
	スライド 32

